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58 8A 11A 2R
B A E-HYLTRE E-QYLTRE E-QYLTRE REE=HIVY A3
BRE BRIE HRIE BB HRIE BB g ]S
1| Rty 29 1.6 1.2 5.6 0.5 0.9 0.5 1.1 ng/m3N
2 | oyRnray 160 27 110 11 30 10 63 8.8 ng/m3N
3| 1,1,1-M)yBAT4Y 1100 16 29 20 15 8.5 7.7 4.8 ng/m3N
4 | M)yooxTFLY <0.6 0.9 <0.6 5.3 <0.6 0.8 <0.6 0.7 ng/m3N
5| k30T FLY <0.8 1.2 <0.8 0.9 <0.8 <0.8 <0.8 <0.8 | pg/m3N
6 | 7oUR=R))L <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | ng/m3N
7| BIEEZLE/T— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | ng/m?N
8 | yaORILL 3.0 <0.6 2.6 <0.6 1.0 <0.6 <0.6 <0.6 | pg/m3N
9| 1,2->yonxAay <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | ng/m3N
10 | 1,3-94>xTY <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | ng/m?N
11| MLz 2100 330 31 90 15 8.8 4.0 5.1 ng/m3N
12 | 790VEEY -2-IF ARV | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 | ng/m3N
13 | 7EF7ILTER 22 15 11 26 6 14 3 7 ng/m3N
14 | FIRILLTILTER 1.9 8.2 <0.9 5.2 <0.9 4.9 <0.9 3.2 ng/m3N
15 | KER (TRK) <0.05 <0.05 <0.05 0.06 <0.05 <0.05 <0.05 <0.05 | pg/m®N
16 | MLIVY1YYT 2=} <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 | pg/m3N
17 | 7EF=RJIL <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 | pg/m3N
18 | BRALK=R <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 | pg/m3N
19 | BREAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 | pg/m3N
20 | /XS ypnaRvEY 2.2 1.5 1.2 1.1 <0.7 1.3 <0.7 0.7 ng/m3N
21 | ZHERER <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 | pg/m*N
22 | BgibkTFLY 0.2 0.2 0.2 0.5 1.4 0.9 0.1 0.1 ng/m3N
23 | 7ILTEFSE 30 29 23 41 6.0 19 3.0 11 ng/m3N
24 | FAAXIUE — - 0.026 0.034 - — 0.018 0.028 | pg'TEQ/m
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4 R ERERER

SAE=AIVIRE

SAE=AILIHRE

H B BAfL
[BiR | BB | Adm | BA3d | BaER | BafE | Bl | Bl

1 [ Rty 1.1 1.4 1.0 1.0 44 4.0 3.7 3.8 ng/m?
2 | Poronisy 2.1 2.0 2.0 2.1 5.2 4.5 4.5 4.3 pg/m?
3 | L1,1-ryynBOTHY <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 pg/m3
4 | Moo FLy 1.3 1.3 1.3 1.3 2.0 1.9 1.9 1.8 pg/m?
5 | ThYARIFLY <0.8 1.0 0.8 1.2 1.5 1.4 1.4 1.5 pg/m?
6 [7oUyo=rJiL <0.3 <0.3 <0.3 <0.3 0.7 <0.3 0.6 0.6 ng/m?
7 | BIEEZLE/T— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
8 | yaoRiLL <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 pg/m?
9 |1,2-¥ynnxTsy <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 pg/m3
10 | 1,3-94YT> <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
11 | brz> 13 18 13 81 14 15 15 16 pg/m3
12 | 750VEEY -2-1F A%V | <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 ng/m?
13 | 7EFTILTER 5 7 7 5 4 5 5 5 ng/m?
14 | RILATILTER 6.4 11 7.3 6.4 7.0 7.8 7.8 9.1 pg/m?
15 | 7KER (HRIK) 0.003 | 0.003 | 0.003 | 0.003 [ 0.002 [ 0.003 [ 0.002 [ 0.003 pg/m3
16 | BTV (Y974t <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m?
17 | 7=k <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 ng/m?
18 | BRibKE= <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 0.2 pg/m?
19 | BRIEAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
20 | A yOARYEY 1.9 2.7 2.9 1.8 24 2.2 2.6 2.3 pg/m?
21 | ZHibikE <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 ng/m?
22 | BltTFLY 0.1 0.2 0.1 0.2 0.7 0.3 0.3 0.3 pg/m?
23 | ZILTERE 16 21 18 14 14 17 16 19 ng/m?
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MAE=5U T BE

2RE=AIUTHRE

B\ B BAfT
BDE | BB | Adm | BA3d | BaE | BafE | Bl | Bl

1 [ Rty 1.8 2.0 1.3 2.1 2.2 2.4 2.1 2.3 ng/m3
2 | Poronisy 2.9 2.9 2.5 3.2 1.9 1.8 2.2 2.0 pg/m?
3 | L1,1-ryynBOTHY <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 ng/m3
4 | Moo FLy 1.8 1.8 1.3 1.9 1.2 1.2 1.3 1.3 pg/m?
5 | ThYARIFLY 1.1 1.1 0.9 1.0 <0.8 <0.8 <0.8 <0.8 ng/m3
6 | 7o/Un=rJ)L <0.3 <0.3 <0.3 <0.3 0.5 <0.3 <0.3 <0.3 pg/m3
7 | BIEEZLE/T— <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
8 | yaoRiLL <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 <0.6 pg/m?
9 |1,2-¥ynnxTsy <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m3
10 | 1,3-94YT> <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
11 | brz> 21 32 15 26 9.7 13 12 11 ng/m3
12 | 750EEY-2-TFIALYI <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 ng/m?
13 | 7EFFILTER 5 5 6 6 3 3 3 3 ng/m?
14 | IRILLTILTER 4.8 4.8 5.7 5.5 3.1 3.0 3.0 3.1 ng/m?
15 | 7KER (HRIK) 0.003 | 0.003 | 0.003 | 0.003 [ <0.002 [ <0.002 | 0.002 [ 0.002 ng/m3
16 | BTV (Y974t <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 ng/m?
17 | 7=k <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 ng/m3
18 | BRibKE= <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 ng/m3
19 | BRIEAFIL <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 ng/m?
20 | /35¥onanUEY 3.5 3.9 3.3 5.5 2.1 2.0 1.9 1.9 ng/m?
21 | ZHibikE <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 <0.4 ng/m?
22 | BieTFLY 0.4 0.5 0.4 0.7 0.1 0.2 <0.1 0.2 ng/m3
23 | ZILTEREE 9.8 9.8 12 12 8.6 6.6 6.0 6.1 ng/m3
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8 AE=AULJHRE

2 AE=AVVTHRE

5= B popiichiil=1 pofiichsich =1 pofiichsich =1 pofiichsich =1 oy
Rt | SHFEZ | BUEFE+ | BHFEZ
e INERR INERR INERR

1| Rty 4.8 3.7 2.9 2.6 ng/m?
2 | oooorsy 6.8 4.8 2.8 2.0 ng/m3
3| 11,1-k)pOoxT Ay <0.6 <0.6 <0.6 <0.6 pg/m?
4| M)HOOTFLY 2.7 1.8 1.4 1.3 ng/m3
5| Fh3Y00IFLY 1.9 1.5 <0.8 <0.8 ng/m?
6| 7oUn=rJL <0.3 <0.3 <0.3 <0.3 ng/m?
7| BItEZLE/T— <0.3 <0.3 <0.3 <0.3 pg/m3
8 | #ooILL <0.6 <0.6 <0.6 <0.6 pg/m?
9 [12->yonz4ay <0.5 <0.5 <0.5 <0.5 pg/m?
10 | 1,3-F4>1> <0.3 <0.3 <0.3 <0.3 ng/m?
11 | bz 22 13 10 11 ng/m?
12 | 75LBE -2-IF A%V <0.1 <0.1 <0.1 <0.1 pg/m3
13 | 7Er7ILTEFR 4 5 3 3 ng/m?
14 | RILLTILTER 6.3 7.8 3.0 2.8 pg/m?
15 | JKER(HRIK) 0.003 0.003 0.002 0.003 ng/m?
16 | LIV DAV T HR—L <0.5 <0.5 <0.5 <0.5 pg/m?
17 | 7EF=FJIL <0.2 <0.2 <0.2 <0.2 ng/m3
18 | BribKk®E 0.3 0.3 <0.2 <0.2 pg/m?
19 | FAEAFIL <0.3 <0.3 <0.3 <0.3 ng/m?
20 | /XTTH/AANLEY 2.7 1.6 1.5 1.5 ng/m?3
21 | ZBiEmE <0.4 0.7 <0.4 <0.4 pg/m3
22 | BlbkTFLY 0.5 0.2 0.1 <0.1 pg/m?
23 | 7ILTEREE 15 18 6.0 5.8 pg/m?
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2 it kT BEKER &

5AE=2UTHRE

SHE=-AILIHAE

B B Bk T 8% B Bk T s | BHE
gk | mme | Ekim | TkE | sk | mms | skE | Tl
1| prsHa <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | me~t
2 | g 0.06 | <0.05 | <005 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 |met
3| @ 1.0 001 | 001 | 002 | 062 | 001 | 002 | 002 |met
1| man 16 | <003 | 003 | 009 | 091 | <0.03 | <003 | 0.04 |met
5|7y <0.02 | <002 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 |met
6 | #kiR 0.0031 | <0.0005 | <0.0005 | <0.0005 | 0.0007 | <0.0005 | <0.0005 | <0.0005 | me~t
7| Lubgmrsy | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | met
8 | Btk 0.0012 | <0.0005 | <0.0005 | <0.0005 | 2.2 | 0.0009 | 0.014 | 0.24 |met
9 | BiLAFIL <0.005 | <0.005 | <0.005 | <0.005 | 0.005 | <0.005 | <0.005 | <0.005 | met
10 | pH 7.0 7.8 8.9 8.2 6.5 7.3 8.1 7.2
11 | 5% 0.19 025 | <0.08 | <0.08 | <0.08 | <0.08 | 0.11 | 008 |met
12 | 35% 0.3 0.2 <0.1 0.1 0.5 <0.1 0.1 0.1 | met
11 ARV HRE 2RE=4YIRE
= B B K R A B Bk 0 s | B
gk | mm | Bk | TkE | okl | mms | mkm | Tl
1| prsHa <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | me~t
2| 4 <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 | <0.05 |met
3| 0.31 003 | 002 | 001 | 08 | 002 | 001 | 001 |met
1| B8 070 | <0.03 | 005 | 005 1.6 | <003 | 005 | 005 |met
5| o7y <0.02 | <002 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 | <0.02 |met
6 | #kiR 0.0006 | <0.0005 | <0.0005 | <0.0005 | 0.0029 | <0.0005 | <0.0005 | <0.0005 | m&~t
7| Lubgmarsy | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | <0.001 | me~t
8 | BitkE 0.78 |<0.0005| 0.11 | 0.0005 | 0.21 |[<0.0005|<0.0005 |<0.0005 | met
9 | BlLAFL 0.019 | <0.005 | 0.15 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | met
10 | pH 6.9 8.1 8.9 8.5 6.7 8.0 8.4 8.7
11 | 5o% 0.18 011 | 011 | 009 | 016 | 019 | 011 | 0.18 |met
12 | F5% 0.4 0.3 0.1 <0.1 0.3 0.3 0.1 01 | met
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